2019 APC CHAMPIONSHIP SERIES				
Player of the Year Ranking Name Points				
- T				
2	George Kostyal	729		
3	Quincy Nguyen	560		
4	Peter Liu	518		
5	Skip Peregud	493 375		
6	Pedro Martinez			
7	Jimmy Panos Ed Postal	346 330		
8	Gary Uchino	316		
9	Mike Fritz	291		
10	Doug McDaniel	290		
11	Steve Bucher	280		
12	Cesar Sanchez	271		
13	Cesar Sanchez Chris Rusk	259		
14	Paul Chaklos	246		
15	John Liu	233		
16	Becky McDaniel	218		
17	Ruben Pranata	200		
18	Alex Blas	176		
19	Elizabeth Lisek	152		
20	Michele Lahage	144		
21	Jerry Langford	117		
22	Quarry Nguyen	108		
23	JD Griffin	105		
24	Ricky Herrera	102		
25	Jamie Anderson	100		
26	Imran Patel	90		
26	Jim Haungs	90		
28	Mike Salinas	87		
29	Barb Naylon	60		
29	Jaime Mattson	60		
29	Ryan Cygan	60		
29	Sid Rhoads	60		
33	Chris Markey	54		
33	Chris Markey	54		
33	Gio Monsalve	54		
33	John Latosquin	54		
37	Dave Sepulveda	50		
37	Joan Akita	50		
37	Sean Reinholtz	50		
40	Elmer De Leon	45		
40	Rich Sorensen	45		
40	Sebastian Liu	45		
43	Mickey Kwan	42		
43	Myron Emery	42		

	2019 APC CHAMPIONSHIP SERIES				
Place	June 9, 2019 Asian Poker Classic I	Points	Factor	POY Points	
1st	Quincy Nguyen	100	1.4	140	
2nd	Chris Rusk	85	1.4	119	
3rd	Skip Peregud	75	1.4	105	
4th	Steve Bucher	50	1.4	70	
5th	George Kostyal	50	1.4	70	
6th	Peter Liu	50	1.4	70	
7th	John Liu	40	1.4	56	
8th	Ed Postal	40	1.4	56	
9th	Jimmy Panos	40	1.4	56	
10th	Cesar Sanchez	40	1.4	56	
11th	Paul Chaklos	30	1.4	42	
12th	Mike Salinas	30	1.4	42	
13th	Alex Blas	30	1.4	42	
14th	Jim Haungs	30	1.4	42	

2019 APC CHAMPIONSHIP SERIES				
Place	June 22, 2019	Points	Factor	POY
	Asian Poker Classic II			Points
1st	Ruben Pranata	100	2.0	200
2nd	Gary Uchino	85	2.0	170
3rd	George Kostyal	75	2.0	150
4th	Peter Liu	65	2.0	130
5th	Jamie Anderson	50	2.0	100
6th	Ed Postal	50	2.0	100
7th	Jimmy Panos	40	2.0	80
8th	Quincy Nguyen	40	2.0	80
9th	Elizabeth Lisek	40	2.0	80
10th	Alex Blas	40	2.0	80
11th	Jaime Mattson	30	2.0	60
12th	Paul Chaklos	30	2.0	60
13th	Sid Rhoads	30	2.0	60
14th	Barb Naylon	30	2.0	60
15th	John Liu	30	2.0	60
16th	Joan Akita	25	2.0	50
17th	Steve Bucher	25	2.0	50
18th	Sean Reinholtz	25	2.0	50
19th	Dave Sepulveda	25	2.0	50

	2019 APC CHAMPIONSHIP SERIES			
Place	June 28, 2019 APC Limit Texas Hold'em	Points	Factor	POY Points
1st	George Kostyal	100	1.8	180
2nd	Pedro Martinez	85	1.8	153
3rd	Peter Liu	75	1.8	135
4th	Skip Peregud	65	1.8	117
5th	Imran Patel	50	1.8	90
6th	Becky McDaniel	50	1.8	90
7th	Paul Chaklos	40	1.8	72
8th	Elizabeth Lisek	40	1.8	72
9th	John Liu	40	1.8	72
10th	Quincy Nguyen	40	1.8	72
11th	Gio Monsalve	30	1.8	54
12th	Chris Markey	30	1.8	54
13th	John Latosquin	30	1.8	54
14th	Doug McDaniel	30	1.8	54
15th	Mike Fritz	30	1.8	54
16th	Sebastian Liu	25	1.8	45
17th	Rich Sorensen	25	1.8	45
18th	Elmer De Leon	25	1.8	45

	2019 APC CHAMPIONSHIP SERIES			
Place	July 7, 2019 Asian Poker Classic I	Points	Factor	POY Points
1st	Doug McDaniel	100	1.8	180
2nd	Mike Fritz	85	1.8	153
3rd	George Kostyal	75	1.8	135
4th	Jerry Langford	65	1.8	117
5th	Gary Uchino	50	1.8	90
6th	Quincy Nguyen	50	1.8	90
7th	Ed Postal	40	1.8	72
8th	Jimmy Panos	40	1.8	72
9th	Becky McDaniel	40	1.8	72
10th	Paul Chaklos	40	1.8	72
11th	Alex Blas	30	1.8	54
12th	Michele Lahage	30	1.8	54
13th	Pedro Martinez	30	1.8	54
14th	Chris Markey	30	1.8	54
15th	Steve Bucher	30	1.8	54
16th	Peter Liu	25	1.8	45
17th	Mike Salinas	25	1.8	45
18th	John Liu	25	1.8	45

	2019 APC CHAMPIONSHIP SERIES				
Place	July 19, 2019	Points	Factor	POY	
	APC Pot Limit Omaha	100		Points	
1st	Skip Peregud	100	1.2	120	
2nd	Jimmy Panos	85	1.2	102	
3rd	George Kostyal	75	1.2	90	
4th	Ed Postal	50	1.2	60	
5th	Quincy Nguyen	50	1.2	60	
6th	Ryan Cygan	50	1.2	60	
7th	Quarry Nguyen	40	1.2	48	
8th	Pedro Martinez	40	1.2	48	
9th	Jim Haungs	40	1.2	48	
10th	Cesar Sanchez	40	1.2	48	
11th	Mike Fritz	30	1.2	36	
12th	Peter Liu	30	1.2	36	

2019 APC CHAMPIONSHIP SERIES				
Place	August 3, 2019	Points	Factor	POY
Place	Asian Poker Classic I	Politics		Points
1st	Chris Rusk	100	1.4	140
2nd	Cesar Sanchez	85	1.4	119
3rd	JD Griffin	75	1.4	105
4th	Skip Peregud	65	1.4	91
5th	Steve Bucher	50	1.4	70
6th	Quincy Nguyen	50	1.4	70
7th	Doug McDaniel	40	1.4	56
8th	George Kostyal	40	1.4	56
9th	Gary Uchino	40	1.4	56
10th	Becky McDaniel	40	1.4	56
11th	Peter Liu	30	1.4	42
12th	Myron Emery	30	1.4	42
13th	Ed Postal	30	1.4	42
14th	Mickey Kwan	30	1.4	42

	2019 APC CHAMPIONSHIP SERIES				
Place	August 9, 2019	Points	Factor	POY	
Place	APC Pot Limit Omaha Hi-Low			Points	
1st	Pedro Martinez	100	1.2	120	
2nd	Ricky Herrera	85	1.2	102	
3rd	Michele Lahage	75	1.2	90	
4th	Quarry Nguyen	50	1.2	60	
5th	Peter Liu	50	1.2	60	
6th	Skip Peregud	50	1.2	60	
7th	George Kostyal	40	1.2	48	
8th	Mike Fritz	40	1.2	48	
9th	Cesar Sanchez	40	1.2	48	
10th	Quincy Nguyen	40	1.2	48	
11th	Steve Bucher	30	1.2	36	
12th	Jimmy Panos	30	1.2	36	